50, will be treated as malpractice.

Important Note : 1. On completing your ans ,l's, compulsorily draw diagonal cross lines on the remainin,, -)lank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN Nt | MATDIP401
Fourth Semester B.E. Degree Examination, June/July 2015
Advanced Mathematics - Il
Time: 3 hrs. Max. Marks: 100
Note: Answer any FIVE full questions.

1 Find the angle between 2 diagonals of a cube. (06 Marks)

. If A0 9 6), B(1 2 3), C(7 - 25) are vertices of a triangle. Find the coordmates of the foot of

the perpendicular drawn from A to BC. o\ (07 Marks)
. Find the equation of the plane in the Intercept form 24 % PE. L. A (07 Marks)
a C ;;

Find the equation of the plane passing through the three pomts (2 3,4),(-3,5,1)(4,-1,2).

(06 Marks)

. Find the equation of the plane through the points (1 2 1) and perpendicular to the planes

X+y-2z=5and 3x-y+4z=12. (07 Marks)
Find the equation of the plane through the pomts GL 2 0) and containing the plane

2x+3y+5z-1=0and3x+y-z+2=0. (07 Marks)

Find the unit Vector parallel to the sup- ofthe vector A =2i+ 4j—5kand B =i+2j+3k.

7N (06 Marks)

. Determine A such that A =i +J;+_ka,,~»'B =2i-4k . C =i+ Aj + 3k are coplanar.
« (07 Marks)
Prove that (dxb) x ¢ = (a,fc")?‘B -(b.%)a. (07 Marks)
Prove that — [F G] =F. (jj—(: ((jif G, (06 Marks)
. Find the ve1001ty and acceleratlon forthecurve T = (1) i+ (I1+)j + 2t — Sk at t = 1
and also find-their magnitude. (07 Marks)

da <O db - P

4 Ifa=w a and d_t=WXb then show that d_t[a xb]= wx(axb). (07 Marks)

Find the directional derivative of o =x’yz+4xz>at(1,-2,-1)along 2i—j—2k. (06 Marks)

~IfF=(x+y+1)i+]j-(x+y)k Find F.curlF. (07 Marks)

Show that V.(V x A )= 0. (07 Marks)
t; O0<t<4
Find L f(t) given that f(t) = {5 s (05 Marks)
. : >
. Find i) L[e*sin5t sin3t] ii) L[t’ cosh3t] iii) L[t’ ™. (15 Marks)
: 1-e'
Find L = (05 Marks)
. Find )L #— i) L [4%“—5—] iii) L [—25—] (15 Marks)
(s—=D%(s+2) 16s> 25 s2—6s+9
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a. Using Laplace transform solve :
dzy  ,dy t
—+4—+3y=¢' ; y(0)=0 y'(0)=1.
TR y(0)=0 y'(0)
b. Solve using Laplace transformation method
y"'+2y'-3y=sint, y(0)=y'(0)=0.

Fekkkk

20f2
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(10 Marks)

(10 Ma rks)




